Oxi - oeal

SR BEOBesE e
Bexso Bdes
B¢x10 (230®a205) =508

8EH LOCw (0402 £20®98m) u8Fuvenc - 2018, 427008

Bwwa m%mw D@0 Imme: MAT 121/ MPM1213- 8 o0& mes
cuees
°  yaE» v (04) &0 BERS weswsxizm.

Cw: &as @e& (02).

(b)

©

ixﬂn=;"

2! @esaws, Bug xE(O 1 mqaoa (’0

@8 R OB mdBm ewoansn Eme o 2" 08z Qv yhes a1 Eme ¢ b,

{A,, };0-1 om Q Bdgms newem, = RCHOC 4057 ¢n@en, Bug ne Z" esewo

A, S 4,, o 688 =8 0Rg, { . J” j o B =4, 9 Bag neZ* \{l } 3¢
B, =A4,\4, | ecw e55 adg co EeveS anEc®un oces 0B ohn gdguon

éc&)&@a 08mews? ewd gzt gyoBst owd Bog ne L weom A, = UB, D)

i=l|

Jacam’é)zs*fzs). [25 points]

rs 58, U'B,, U}A 80 cum O, [15 points]
R ooz RxR ©m, a—beZ® 5r® soems (a,b) € R oce e85 eisig

@I Vw 918 0BY. R pEnvm s®aside= 95 essIOsTns. [15 points]
xeR|(x,1)eR } DEHWB GLNWBEIS). [10 points]

1 ,
1 B 0BY. [ B O6® w 6w ewawesysy, [5+10 points]

. ]
i) g: [0, oo]—) R exdm g(x) = g OCE ¢ C1od W8 0BY.
X -+

Xx) (" o gXx) =X QD 05850 mOBIB).

[10+10 points]

1 P.T.O.




a, b ¢
2. (@) A=| a, b, ¢, | @B det (A)=a o8 0oBg: 088 a € R\ { 0 } ed.
a; by ¢
Hedtromaoriod ges owe 0Be®@sf, wuvm Bddrem Om Somnsd gowsy a gyedsy
@30 BIB).
-a, -a, -a, La,+b a -b ¢
(i) g -b  -b, -b,|, (ii) { a,+b, a,-b, «,
- - g a,+b, a;-b, c,
(iii) det ((24)") (iv) det (44").
[40 points]
11 2
(b) 4=| 2 4 -3 | =8 0By,
3 6 -5

A 30w, & HBxF vun edmom vdLBe Sacsim.

X #y +dz = 9
2x +4y -3z =
3x +6y +-5z = 0.

[25+10 pointsl

1 0 2
2 2a 6

(c) A= 0 6 3a—1) 0 013 0BY; 0@F o € R. @b.
1 3 1 7

Bawmosied e owit o fc@st, #9005 A 8 Bddreme ewiwsdn. [20 Points]

a 8 B0 gouwssy wews sun wdHBe B8ERB@O Beg® emsim oDt Bede? @ded

BEDS wr1d mSnsin.

P +35 =0
2p +2agq +6s =0

6g  +3a-Dr =0
P +3q +r +7s =0

105 points]

2 cts...



3. (a)

(b)

4. (a)

(b)

p(x)=2x" —9x7 +12x -4 =8 w0 P(x) BEe a, B oy 8 0By,
Vieta’s es@moes Swr ¢zOzm.

a=pf o058, p(x) 8 Bog® e ewrnssis.

JS(xX)=ax"+a,_x""+ +ax' +a,=0 o Yo ed®momed ¢
a0, ... &, 0B 0BY. 20, reZlwgm P = Za,' 08 0Bg.
i=|

F=-6, P, =32, w0 P, =-102 8¢ @pusdge

p(x)=x"+ax’ +a,x’ +a,x+17 DYBED CLIBBID).
—4+i et p(x) 8 §eus A0 eIy,

P(x) 8 gevrns Bog® gc owiwidn.

P, eessws (4 + i)4 + (4 - 1')4 =322 a0 sesfoma 0I5

0800w g¢ 8800 ymn »SsTs.

I 8 odon gewsy Bue exfDaim.

o'+ v’ +o+1=0 20 =

(i) > +1-1=0 Dz a=0+0" w0 b=0+0°

2xi

Ve neptDsImy; @08 v _ e’ &b,

8 5823 ab 8 400 .yt

27 47r—+~C()S67T+C o 1 a®
— +cos— — +Ces—=— -
cOs—+¢C 5 5 s z % Ut st

c) z=—1+i8 880> YCust ewmwsIm.

-

p(x)=x"+x> +2x> —12x+8 8 ®BY. p(x) 8 Bug® §c owowsIs.

[10 points]

[20 points]

[20 points]

[10points]

[10points]

[10+4+10 points]

[10 points]

[10 points]

[10 points]

[15 points]

[20peints]

[05 points]

[10 points]

[10 points
T



5. (a) (G,) o¥p efues 0BE; 08B G wrimy Bdgsie memant 0 -

e8¢ g »b0ws @d.
(i) (G, ) @8z madn »>om cA® ©fw yose Gwo e ErYny.

(i)  Bog a.beC eem, (a b)) =b7 a7 38 wdme mEBTH

(b) om8 vedom §c neme G 8 0RE; 388 ne Z* ob. w-Be
8:008C @55 @hne wden G wris ufwes D5 A0 ewsiDrsis.
G 80dEus? 0be? daed BERS emns mdsis.

azd, 1 =48 088 G 8 g0l Buwo ¢50r, genm BY® eesyn.

ey G On

[20 points])

[10 pointe]

[40 points]

[10 points]

[10+10 points]

6. R Som omedons Ocuwsl w8 0BE. RO S o8 g R w0 S 8 ecc omnd, re R w

SES O 888 § (r, 5) sSd0n YOC DED® 18 0BY. ROS @ + wo - eseom =88 &S

¢BOG; Bag (1, 5)). (r,,5,) € RO S eem
(. s)+ (1. 5,)=(r +r,, 5, +5,) @
(s 8)-(ry, 8,)= (1 -1y, 8, 83 )

(R®S, +, ) omedns Dcwes 90 easitns.

[70 points]

2,87, 8Bug® gdwd 8w enltn Z, 7, wew emes © gens D@ @¢sIBy.

[10+20 points]

Last Page



